Social Stratification Assessment
Total marks: 50 marks
Total time: 50 minutes

1) Which of the following is a term commonly used by sociologists to describe a state of poverty where individuals cannot afford the minimum needed to survive? (1 mark)
a) Material deprivation
b) Relative poverty
c) Situational poverty
d) Absolute poverty
2) Which type of poverty is measured in terms of conditions such as inadequate housing, lack of a garden, inadequate outdoor play facilities and air pollution? (1 mark)
a) Environmental poverty
b) Subjective poverty 
c) Relative income standard of poverty
d) State standard of poverty  
3) Describe what sociologists mean by the glass ceiling. (3 marks)
4) Describe what sociologists mean by ageism. (3 marks)
5) Describe what sociologists mean by the ascribed status. (3 marks)
6) Describe what sociologists mean by universal benefits. (3 marks)
7) Identify and explain one disadvantage of using overt observation when investigating people’s attitudes, lifestyles and aspirations. (4 marks)
8) Identify and explain one reason why the importance of class may have declined over the last 40 years. (4 marks)
9) Identify and explain one way in which British governments have tried to reduce social inequalities based on ethnicity over the last 40 years. (4 marks)
10) Discuss how far sociologists agree that Britain today is a patriarchal society (12 marks)
11) Discuss how far sociologists agree that your wealth can determine your success in life. (12 marks)
